TCXO & VC-TCXO

Application : GPS (5032size TCXO) ~ Application : PDC (3225size VC-TCXO)

TXO83 16.367600MHz as following drawings show VTX92 14.400MHz as following drawings show characteristics
characteristics

Frequency vs Temperature Characteristics
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Phase Noise of TXO83 16.367600 MHz
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1.0e-09 Viune: 4000V Table 2 TCXO 81, 83, 92 series' Typical Phase Noise performance
oo \\._,_M&, TN 100 There would be some variations from lot to lot about =3 dBc.
) Besides, when the 3225size TCXO 92series are used with frequencies
1oet §§é %%e?é lower than 15MHz, sometimes the frequency division may be
10e-12 o ;ﬂzgg;;g applied because of developmentissue. In this case, the performance
001 o 1 10 Zég Ee@ could be deferent from the chart above.
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